Sequences and Series

Find an )§pt§:ssmn for the nth term of each sequence.
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Determine if the sequence converges or diverges. If a sequence converges, then find its limit.

7. (0.2)"

MQJ)V\ = C) 8 2

>

y (;mverhq‘ s O

9. (-0.3)" Mg)

n—> v«

K c,om&'}s-ﬁrﬁ O
2" -~ o
11. i %5

..
QJE;“C;E> - O C/On\f‘sv 0
N = y
13, = /(;Lm.@l- O , 4, 2241
" h= oo « GV "
H\ASL')MQ al perg Lus fo O

Dol g

n e

w»f\abdi\ e
. oty €

T 10 a2 b}ﬂ(g_‘_éﬁln) g v O -

v'\"‘)oo

oy o ?>
@ﬂ T/Q > borO
%W‘Qf‘y}

e ¥ -2
“t Conv h?&




Find recurswe expression for the »th term of each sequence.
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The nth Term Divergence Test

If lim a,#0, then Za,, is a divergent series.
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Note: the test does not conclude that a series converges. If the
limit is any other number besides 0, then we can only conclude
that the series is divergent. If the limit is 0, then there is no
conclusion. If the limit is 0, the series is probably convergent,
but there are many exceptions such as 1/x.

Use the #nth Term Divergence Test to determine if the series converges or diverges.

17, 3l
n=1 %
Lom 0w = | 2D
h~ e ,
¢
CL\W’v"ng
19. i 1+33Ir12+n3

n=1 4n° =5n+2

v

-~

#0
C)\c\/ewge ¢

4
q

21

N ﬂ
Z;,—z-

@ 1\
) 2n+(-1)"5

nol 4n—(=D"3

. P
Zuvxav\ =k

A —Po=~

%0 g Q@MBXS

n2+n

ﬁw\ B, = &

n -7

.. No
b

20. Z cos (7 n)

Prow O mev(/lMoQ =0
n ~>ve ; o(zl\f(’f%(!

2, sinn
2.y — ~

= n » -
" [/Urv\ S_%\L‘ =
b= .
: ‘ /VO C{M(,Q )

® on
Z_

n=1

24,

=

Lime O dePiad 20
n—v=

. 0(\ \;ﬁfg,e <



Evaluate the sum of each telescoping series, and find an expression for the zth Partial Sum of the series.
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27. The infinite series Z ay, has nth partial sum S, = " for n>1. What is the sum of the series Z ay?
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28. The infinite series Z ay, has nth partial sum S, =(—1)"’“"l for n=1. What is the sum of the series Z ap?

k=1 k=1
1 B e
A) -1 ®B) 0 (©) 5 D) 1 @e series fi:'_eig’eD

g )
Z'O\K ) AW\ Sn ﬂ
5T e Je Stquonc

#0) - ¥ alernizs
%L""\ + )'A} )_/,,.‘ ce



